
Epreuve 2 : Maths man 

 

 

Lydie is playing a video game in which the character moves through a 

maze and collects red and green tokens. 

The character cannot: 

 collect two tokens of the same col

 cross a blue wall; 

 move diagonally; 

 go on to an empty square. 

Draw the path through the maze that lets the character get out 

the maze with the biggest number of tokens.

 

 

is playing a video game in which the character moves through a 

collect two tokens of the same colour in a row; 

Draw the path through the maze that lets the character get out of 

with the biggest number of tokens. 


